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Compulsory Question

1. Statg.and explam the following—

: . - ietribution.
(o4 Business applications of Posson dis
L7
ﬂnndit.icmu! probabiiity rule.
/' Random sampling.
o
idy Iruskal-Wallis test
5xd=20

iel Central Limit Theorem.

9 The average carning per share (EPS) of a group of
companies has a normal distribution with mean
Rs. 96 and standard deviation Rs. 5. What is the
probability that A company selected at random from
this group will have PSS 1 excesz of Hn ﬂ"}? 10
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' Spnowball sampling
bt Inverse sampling
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¢ Cluster cqmpling .

sampling

st -] .
slmrah:iul {o1
(here are

d Stratitied i|1tt‘l""j"“"“" for 3 jJ'U.Liis,
3 candidates Jor the

those

Atandidate is "
r Tt pfl.-?[. arae Lwo

dop firEl - }US[ o

| pabil date

- 4 and for the | post LBe ¢
o mws, Wh ohability that U

VWhat i the P! obabilit; i

carcidates.

easl O1€ post.
i< interested in Lesting the
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ilpace given by one of the car

i snd Delhl ' _—
Mumba: ‘n E}e!ili and found that the ay grage

litre. Qut of 150 car owners
' ‘eI 2.5 kms. per

in Mumbsi, the mileage a\ er?gEf_j] 1091;)“;5 br;ﬁ}d

T standar {jation of mueag

ire. The standard devia I of

}_:f ;ar iz known to be 09 kms. Can we state th(;

sive different mileage?
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CiLieE. )
100 car owners

e i
mileage iz 12 kms. pe

these two citles
the procedure
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VWit iz statistical hypothesis?

ol tesuing of such h}'POt]lCSiS-

What statistical estimation? Describe desirable
properties of a good estimates. 4+6=10
\What is meant by the term “non-parametric statistics?
What sampling distributing is appropriate for the
sign test when the sample size is small? When the

somple size is large? B4+242=10

Wit u detailed note on the data analvsis usine
. * E=1

SR 10

-

http://www.kuonline.in

kL

urauruony mmmdny



